
MONSTER - MT1 TOWER

*

(2)

STEP ONE : STEP TWO :

(1)

(2)

STEP THREE :

#100340

TAG

FRONT

REAR

FRONT

REAR

STEP FIVE :

(1)

STEP FOUR :

TAG

CANVAS

Position the Rear Bow so that the strap is facing upwards and the
rivet head is facing down towards the canvas. Thread the bow
through the sleeve.



1) MEASURE 25" DOWN FROM CENTER OF WELD, ON FRONT LEG OF TOWER, TO CENTER OF
TOP HOLE IN 180 DEGREE SWIVEL SUPPORT POLE MOUNT . CENTER MOUNT ON FRONT OF
TOWER LEG, TWISTKNOB TOWARD INSIDE OF TOWER. USE #10 X 3/4" TEK SCREWS.

HARDWARE PACKAGED
2 - 200880 MOUNT SIDE S/S W/BOLT
2 - 200831 DECK HINGE 180 SS
4 - 101180 BLACK TWISTKNOBS 1/4" - 20 X 1"
2 - 101060 STRAP EYES
8 - 100470 #10 X 3/4" PHIL FLAT TEK SCREW
4 -100390  #8 X 3/4" PHIL FLAT TEK SCREWS

2) MEASURE 1 1/2" DOWN FROM CENTER OF WELD ON REAR LEG TO CENTER OF TOP
HOLE ON MAIN BOW SIDE MOUNT. CENTER MOUNT ON OUTSIDE OF TOWER LEG. PLACE
TWISTKNOB IN MOUNT TOWARD OUTSIDE OF TOWER. USE #10 X 3/4" TEK SCREWS
3) MEASURE 11" DOWN FROM CENTER OF WELD ON REAR LEG TO CENTER OF TOP
HOLE IN STRAP EYE. CENTER STRAP EYE ON BACKSIDE OF TOWER LEG. USE #8 X
3/4" TEK SCREWS.

WESTLAND

2022 MONSTER TOWER MONSTER MT 1

OVER TOWER BIMINI TOP - BREAKDOWN VERSION 
MOUNTING INSTRUCTIONS

westlandcovers.com
phone# 800-835-7992

PAGE 1 OF 2     3/16/22     

 TOWERS BASES  MEASURING -  72" OR MORE

MT  MT1 NN1-3BS0AA 
MT  MT1  NN1-3BS0AH

1 1/2"

REAR OF
TOWER

25"
11"

PLEASE READ DIRECTIONS CAREFULLY BEFORE DRILLING TOWER

WELD

SUPPORT
POLE

MOUNT

MAIN
BOW

MOUNT

REAR
STRAP
EYES

 TOWERS
MEASURING

72" OR MORE
BETWEEN

FRONT TOWER
BASE MOUNTS

MAIN
BOW

FRONT OF
TOWER

ASSEMBLY PACKAGED
8 - 100340 #8 X 5/8” SCREW



1) MEASURE 25" DOWN FROM CENTER OF WELD, ON FRONT LEG OF TOWER, TO CENTER OF
TOP HOLE IN 180 DEGREE SWIVEL SUPPORT POLE MOUNT . CENTER MOUNT ON OUTSIDE
OF TOWER LEG, TWISTKNOB TOWARD OUTSIDE OF TOWER. USE #10 X 3/4" TEK SCREWS.

PAGE 2 OF 2      3/16/22

HARDWARE PACKAGED
2 - 200880 MOUNT SIDE S/S W/BOLT
2 - 200831 DECK HINGE 180 SS
4 - 101080 BLACK TWISTKNOBS 1/4" - 20 X 1"
2 - 101060 STRAP EYES
8 - 100470 #10 X 3/4" PHIL FLAT TEK SCREW
4 - 100390 #8 X 3/4" PHIL FLAT TEK SCREWS

2) MEASURE 1 1/2" DOWN FROM CENTER OF WELD ON REAR LEG TO CENTER OF TOP
HOLE ON MAIN BOW SIDE MOUNT. CENTER MOUNT ON OUTSIDE OF TOWER LEG. PLACE
TWISTKNOB IN MOUNT TOWARD OUTSIDE OF TOWER. USE #10 X 3/4" TEK SCREWS
3) MEASURE 11" DOWN FROM CENTER OF WELD ON REAR LEG TO CENTER OF TOP
HOLE IN STRAP EYE. CENTER STRAP EYE ON BACKSIDE OF TOWER LEG. USE #8 X
3/4" TEK SCREWS.

 TOWERS
MEASURING
72" OR LESS
BETWEEN

FRONT TOWER
BASE MOUNTS

WESTLAND

2022 MONSTER TOWER MONSTER MT 1

OVER TOWER BIMINI TOP - BREAKDOWN VERSION 
MOUNTING INSTRUCTIONS

westlandcovers.com
phone# 800-835-7992  TOWERS BASES  MEASURING -  72" OR LESS

MT  MT1  NN1-3BS0AA 
MT  MT1  NN1-3BS0AH

1 1/2"

REAR OF
TOWER

25"
11"

PLEASE READ DIRECTIONS CAREFULLY BEFORE DRILLING TOWER
WELD

SUPPORT
POLE

MOUNT

MAIN
BOW

MOUNT

REAR
STRAP
EYES

MAIN
BOW

FRONT OF
TOWER

ASSEMBLY PACKAGED
8 - 100340 #8 X 5/8” SCREW




